Q.P. Code ~ 13332
Third Semester B.Com. Degree Examination,
October/November 20190
(Non-CBCS - RNS Scheme)
Commerce
CORPORATE ACCOUNTING -1
Time : 3 Hours] [Max. Marks : 80

Instructions to Candidates : Answers should be written completely either in English or in
Kannada.
SECTION - A/ Qg - 2

Answer any TEN of the following sub-questions. Each sub-question carries
2 marks : (10 x 2 = 20)

AURFHRE0e BX) ovS-BENIn eugbh. I3 evs-wEHt 2 wosrish :

I, (a) Whoisan underwriter? RS
230% Fo3kmed wosd admdy? N~ “":{
““ﬂ,. -y
(b} Give the meaning of marked application. A Fi“ ':
roodas eernd ugr Jed. : L

(c) What is meant by partial underwriting?
yenig: ol Sodrf ocorddery?

(d) What do you mean by preference shares?
a3 decondondemy?

e)  Pass an entry for transfer of divisible profits to Capital Redemption Reserve
[CRR] account.

phRwe, hpbod wodmey ddecuime [CRR] a»d SIreroumod dect e
wdonb.

(i  What is a super profit?
BI0 eyl HoBdeRy?

(g) Closing capital employed is Rs. 12,00,000, Net profit for the current vear is
Rs. 2,40,000. Calculate the Average capital employed.

CLES SR AL el Spuhady da. 1,20,000, EK:E}‘ o=yl oe. 2,40,000. 30330 aEiaw
woBEY Bor) LARALB.
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(h) State any two factors determining the value of goodwill.
Dmen AFFrBR.E setnmniE HUB) wosndE), 3T,

{ii Mention the various methods of valuation of shares.
dedony ;iﬁlc%;iﬁsjﬁ Swus ﬂrﬁaﬁﬁ#iﬁ%ﬁm

(. How do vou calculate the intrinsic value of equity shares?
mﬁmaim Hecond eodbs ;iﬁt‘.as:dﬁ;i Berl o &Baln8?

(k) What is meant by calls-in-arrears?
808rie Lowpd Hondeso?

() How do you treat preliminary expenses written off in the final accounts of
the company?

3rih wevend mTods Surida doxdob Bods) JETO Berd 20ed30087

SECTION - B/ awen - @
Answer any THREE of the following questions. Each question carries S marks .
{3 x5=15)
cInTEte Saeds FENYr eugon. 3 BB 5 wosrivy

2.  Sky Ltd. issued 1,00,000 shares. These shares are underwritten as :
X - 40,000 shares, Y - 30,000 shares and Z - 30,000 shares.

Applications for 80,000 shares were received in all out of which applications for
20.000 shares had the stamp of X those for 10,000 shares that of ¥ 20,000
shares had that of Z.

Show the Net-liability of underwriters.

Sky goziRadn 1,00,000 decondmy mesir&RsOr Arorid S»BY. zogpnr dmndobdy,
300> Posdmeddy X, Y, #8) Z wideodmy. ePrivay X - 40,000 Heoord,
Y - 30,000 #edorieh 303y Z ~ 30,000 Mdﬁi Boudadlnich3n.

PUSIERWIE vurny 2ednt IFEITCO 80,000 Heconert wuFrivy) @8tz =latslo]
rods) BB VLETID deivomodad

X - 20,000 Secorieb, Y — 10,000 dedorish 53) Z - 20,000 sHedorieh
Rta‘a# mﬁmﬁﬁaﬁ@ gom) &HBCLD.

3. Briefly explain the different types of preference shares.
o3 Zecon aFNYE), Sojdaeh 0L

]
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From the following information, calculate the value of goodwill under 3 years
purchase of super profits method.

{al Average capital employed Rs. 8,70,000.

(b) Net profits of the firm for the past 3 years were ; Rs, 1,22.000, Rs. 98 500
and Rs. 1,75,500,

(¢} Managerial remuneration if employed elsewhere Rs. 18,000 p.a.

(d) Normal rate of return 10% p.a.

911 DeBidd Snbiad @50 ﬁz&gﬁ eniind 3 Jdro w;ﬁéahaigd Judor RITITIDT),

033 HAHY.

(a) ﬁu;iﬂi}q'ﬂ da. 8,70,000r 20030 mdm‘;dai%_ Badeehid

(b) F0501 890 3 Sarnidn Zowodad R};E‘aﬁ @) : dw. 1,22,000, de. 98,500 23y
owe. 1,75,500.

) S TmaE sondd Yedd sobr dsrkicd Sa3Fg o, 18,000.

(d) =sars IR, eweab od de. 10.

From the following information, calculate the value of an equity shares under

Yield method.
fa) The paid up capital of a company consists of 10,000, 15% preference

(bj

(e)

shares of Rs. 10 each and 20,000 equity shares of Rs. 10 each.

The average annual profit of the company after providing for depreciation
and taxation amounted to Rs. 85.000. It is considered necessary to transfer
Rs. 20,000 to general reserve before declaring dividend.

The normal rate of return expected is 10%.

39l S0HS Snbioh 350 RS0 FFIAHE BB, Aedorly IPeI) For> SBD

(a)

(b)

(c)

.10 S0 wdod 10,000, 15% eE.® dedorish ge. 10 I Bedab 20,000
3w, dechris.

3o I ﬁaﬁ'ﬁ?&bﬁgt TOLBAE T30 wowh TUE F09RD oAFE eyl
o 85,000, oemen DA Smergs am&ci% g, 20,000 enymod Rdedodyod
Do, ¢

mﬁm& ey wd Be. 10,

:-r-;,

T e B



6.

(a]  Preliminary expenses

(b) Forfeited shares

(e} Goodwill

(d) Sinking fund

(e} Provision for taxation.

(a) w0008 Segriet ;
(b)  Swenriecen B3 decbridy

c) omazd

(d) oz OB

(e) weonbam 284

SECTION - C/atwrt - &

Answer any THREE of the following questions. Each question carries 15 marks
' (3x15 =45

oIRecic.s et FBrivr eugdy 33 331 15 wosrieh -

ARK Ltd. issued 50,000 equity shares of Rs. 100 each, P, Q, R and S underwrit
the entire issue in the proportion of 40%, 30%, 20% and 10% respectively ir
consideration of commission at 4%, They also apply for firm shares as follows:
P - 1,500 shares, Q - 1,000 shares, R - 1,000 shares and 8 - 1,500 shares.

Besides the firm applications from the underwriters the public apply for 30,00(
shares of which marked applications are as follows:

P - 5,000 shares, Q - 3,000 shares, R - 4,000 shares and S - 8,000 shares.
Determine the liability of the underwriters and also calculate the commission.
FomRI 50,000 IRe, Hechriv) 6. 100 Fad Wb AoAS. P, Q, R ) ;ﬁj
DOWTIIT & secorivaty Be. 40, Be. 30, de. 20 I) Fe. 10 Fod Foedr LAY,
Badrt 30 Potabed S8.eY,en wom) B B $esomodd :

P = 1,500 dedbrie, Q ~ 1,000 aecoried, R ~ 1,000 Hecoried 8) S - 1.500
RIS dath 28 weiend slodh wIruds 30,000 decordn wae BITiES. BddY i
Bu8 v ey dddordods : _

P = 5,000 Zedortso, Q - 3,000 dedoris, R ~ 4,000 Hecoreh 3 S - 8,000 dedorizy,
X8 Snbicnon 3 GOTAROT Beredd Sk BT BRI ST, Ford LBowD
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The summarized Bﬂﬂnﬁﬂ Sheet of Ajith Company Ltd. as on 31.3.2018 was as

follows:
Liabilities Rs. Assets
Share capital Land and Building
40,000 equity shares of Plant and Machinery
Rs, 10 each fully paid 4,00,000 Cash at Bank

1,000 redeemable preference
shares of Rs. 100 each

only Rs. 75 called up 75,000

Profit and Loss A/c 1,320,000

Current liabilities 95,000
~ 7.00,000

Rs.
3,00,000
2,00,000
2,00,000

7,00,000

On 1.4.2018 preference shares were redeemed out of divisible profits, you are
required to pass journal entries and prepare the Balance Sheet after redemption

of preference shares.
31.03.2018 dod weisf gozdod vgest 33dodn o Bedond :

dedd wodmad : P 23) sLiE
o 10 S8 wefab> Fpor T S8 abognsd

Somoded 40,000 m3RF, dedoried  4,00,000  R,05°FS 30 Srivd
T 100 S wetad dwe. 100

o) Wb te. 75 gabend

1,000 et 30 Hecoried 75,000
ooyl o) I wad 1,30,000
0 Bodmbdris 95,000

7,00,000

.
3,00,000
2,00,000

2,00,000

- 7,00,000

pNeds, opihos wume Hedoriv) Beosos 1.4.2018 dodhy Sdeendtodsencady.
et DeRdndal wdotd e HSeesdod Fo3on wEe: @3baba adnda.
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0.

Following is the Balance Sheet of Sona Ltd. as on 31,3.2018.

Liahilities Rs. Assets Rs.
Share capital 30,00,000 Plant and machinery 10.00,0600
Reserves and surplus 7,50,000 Land and Building 10,00,000
Creditors 12,50,000 Stock 8.00,000
Debtors 7.00,000
Cash at Bank 10,00,000
Investments
(8% govt, bonds) 5,00,000
50,00.000 50,000,000

The investments are 8% government bonds. The net profit after taxation for
past 4 years were Rs. 7,85,000, Rs. 845,000, Rs. 8,50,000 and Rs. 8,60,00
respectively. Normal rate of return on average capital employed is 20%.

Calculate the value of goodwill on the basis of:
(@) 5 years purchase of super profits.
(b} Capitalisation of super profit method.

() Annuity of super profits, taking the present value of an annuity of on
rupee for five years at 10% interest is Rs. 3.78.

31.3.2018 Jod Ancwe omdod w@es @380i 8 Ded 7y ;

Basmbddnd o esyrish d.e.
sech woETRY 30,00,000 S0 K abogrisy  10,00,000
esen 0By BWF0 WKy 7,50,000 ATEY sy s 10,00,000
P 12,50,000 0= 8,00,000

abedrish 7,00,000

w058 9dos SMidy  10,00,000

Babdrid)

(8% Bewrd weonf) 5.00,000
50,00,000 50,00,000

de. B O zmerD wpomnd Hoced 3088 2017 sSodoy Md eyl on. 7,85, 000
gw. 8,45,000, dae. 8,50,000 =3 de. 8,60,000 mmu mu.;,m:rtm pilerEn
wodmey aARFol Soed eryl Bd de, 20, el

ek SRR m%anaq, someaort SPeEE) sow) &BoD.

(a) 5 Jie DdeBob Bed3d ened I3

(b) @0 ey wormYedtn TW

(c) Swram mﬁdﬂ da. 145 amrri#a de. 10 dod m# dn. 3.78.
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10. The Balance Sheet of X Limited Company reveals the following position as on
31st March, 2018.

Liabilities Rs. Assets Rs.
Issued capital in Rs. 10 shares 4,00,000 Fixed assets 5,00,000
Reserves 90,000 Current assets 2,00,000
Profit and Loss A/c 20,000 Goodwill 40,000
5% debentures 1,006,000
Current liabilities 1,320,000
7,40,000 7,40,000

On 31st March, 2018, the fixed assets were revalued at Rs. 3,50,000 and the
goodwill at Rs. 50,000. The net profits for the past three years were Rs. 51,600,
Rs. 52,000 and Rs. 51,650 respectively of which 20% was placed under reserve.
The normal rate of return is 10%.

Ascertain the value of shares of the company under s der
{a) Intrinsic value method. AR
(b) Yield value method. ' R Y
c) Fair value method. | it
X gozdRody gl BdFodn 31.3.2018 o o d¥soEods -

EETaeTa Brivh o.. eirieh g.e.
o4, 10 S dfefads 4,00,000 AT esjrish 5,00,000
FouFodng Hec wodTee B eineh 2.00,000
Joeden ADMsh 90,000 zOTJ) 40,000
R S3) B a0ad 20,000
5% meDZ ey 1,00,000
10 Bammddns) 1,30,000

7,40,000 7.40,000

Bwaod 31.03.2018 dombd AT wrieh Sdd> IPe, TdE. Be. 3,50,000 B de.
50,000. 8 %obd 3 Sar DY oowIR) de. 51,600, de. 52,000 vy de. 51,650
“NS3S. S RyEa $0r dodd Be. 20 Tod eI BrivrcwEed AFFORE) F0HD TR,
R HO) Be, 10 BAH3T.

T8 dedn SR Hw) $Ysomod som) LBoWS :
{a) .m;.f ehol HeE
(b)  @%LTD emood R o8

(c) Rugm2 ve dpes
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11. Bright Company Ltd. had an authorized capital of Rs. 6,00,000 in equity shares
of Rs. 10 each. Its ledger balances as on 31.3.201818 given below:

Rs.
Calls-in-arrears 7,500
Premises 3,00,000
Plant and Machinery 3,30,000
[nterim dividend (including CDT) 37.500

 Stock (1:4.2017) 75,000
}_'i:ip_;tures 7,200
Debtors 87,000
Goodwill 25,000

. Cash in hand 750

‘.. Cash at Bank 39,900
Purchases 1,85,000
Preliminary expenses 5.000
Wages 84,865
General expenses 16,835
Freight and carriage 13,115
Yalaries 14,500
Directors fees 5,725
Bad debts 2,100
Debenture interest paid 9,000
Called-up capital 400,000
6% debenture 3,00,000
Profit and Loss A/e (1.4.2017) (cr.) 14,500
Bills payable 38,000
Creditors 50,000
Sales 4,15,000
General reserve 25,000
Bad debts provision (1.4.2017) 3,500

Adjustments :

(a) Depreciate Plant and Machinery by 10%.

(b) Write-off preliminary expenses Rs. 500.

{c) Provide for debenture interest due. 2
(d) Provide for reserves for doubtful debts at 5% on debtors.
(e) Of the debtors Rs. 500 are further bad.

(ff Closing stock Rs. 95,000,

Prepare Profit/Loss Account and Balance Sheet of a company as on 31.3.2018.
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Third Semester B.Com. Degree Examination,

October/November 2019

(Non-CBCS (RNS))

Commerce

INDIAN FINANCIAL SYSTEM

Time : 3 Hours]

[Max. Marks : 80

Instructions to Candidates : Answers should be written completely either in English or in

Kannada.

SECTION - A/&mn - &

Answer any TEN of the following sub-questions. Each sub-guestion carries
2 marks :

3UNT adnHWTe BR) vS-TFNON vk I3 evs-BBN 2 BosTiey :

1. (a)

(b)

(d

le)

(f)

(g

What are Financial Assets?
BrTaE Ul Hordea)?

What is Primary market?
MPANT FRCOFH aonTern?

Give the meaning of debenture.
POSIE ege 392

What is Core Banking?
Bae0* w3 0807 H0TTCRI?

State any two objectives of S.1.D.B.L

S.L.D.B.L.& cindgjmucse o0r) euteanda) 39A.

What is Venture capital?
Bk WoBmY aouveRL?

Expand ;
DAY

(i} SIDBI
fi1) MICR.

(10 x 2 = 20)



(b) =000 541w ca. 500am Srich BB

(d)  sbedrie) Soees Be. 5 Oy, Fosloings MO 2oesomd MDA,

() aErY Soees 358 . 500 Som> BOTHAS,

m ©033 Damwd de. 95,000,

318¢ S0t 20188 vo3 mrtisoed eny-a wed B e F38odm 3ainds,

10




